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(@) EXplain synthesis of thiazoles : 8
@) From o-halo carbonyl compound
(z1)  From Gabriel synthesis.
Or
Explain synthesis of Indalizines from : 8
@) 2-picoline
(1)  2-pyridyl lithium.
(b) Explain synthesis of diazepines from : 7
() diazopenta 2, 4 diene
(z1) ~ pyridine N-ylides.
Or
Explain synthesis of azetidine from : 7
@) o-halo alkyl amine
() From isoxazole derivatives.
P.T.O.
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Explain why electrophilic attack takes place at 4 and 5-position in

imidazole. 8
Or

Explain the chemical properties of oxepine : 8

@) Reaction with acid

@) Diels-Alder reaction.

Explain Hantzch-Widman system of nomenclature with suitable

example. 7
Or

Explain synthesis of Benzothiazole : 7

@) From o-amino thio-phenol

() N-Arylthioamides.

Select the correct alternative and rewrite the complete sentence : 5

() The stem irine may be used ring containing any :
(@) N
®) S
(c) O
(d)  Se

(i) Azocine is the aza analogue of :
(@) Cyclooctatetraene
(b)  Cycloheptatetraene
(c) Cyclohexatriene
(d) Cyclopentadiene
(Z11)  Oxadiazoles contain :
(@) Two nitrogen and one oxygen
(b)  Three nitrogen
(c) One nitrogen and two oxygen

(d) None of the above
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(fv)  Diaziridines iS a ......cccccceeeeeerreriinnnnnnen. compound containing two

nitrogen atoms in a three member ring.

(@) Unsaturated
(b) Saturated
(¢)  Anionic
(d)  Cationic
(U) e prefix is used for phosphorus.
(@)  Phosphor
(b)  Phospha
(c) Phospho
(d) Phosa
(B)  Write short notes on any two of the following : 10
@) Azonine

(z1)  Pyrazine

(ziz) ~ Pyridine N-oxide.
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